julia> H4=[1/(i+j-1) for i=1:4, j=1:4]
x4 Matrix{Float64}:
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julia> cond(H4)
15513.73873892924

julia> invH4=inv(H4)
4x4 Matrix{Float64}:
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julia> opnorm(H4)*opnorm(invH4)
15513.738738933602
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julia> H7=[1/(i+j-1)
7x7 Matrix{Float64}:
1.0 0.5

0.5 0.333333
0.333333 0.25
0.25 0.2

0.2 0.166667
0.166667 0.142857
0.142857 0.125
julia> cond(H7)
4.753673567446793e8
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for i=1:7, j=1:7]

0.333333 0.25
0.25 0.2
0.2 0.166667
0.166667 0.142857
0.142857 0.125
0.125 0.111111
0.111111 0.1
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.125
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.1
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year = 1955:5:2000

temp = [ -0.0480, -0.0180, -0.0360, -0.0120,
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scatter(year, temp, label="data",
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julia> V=[float(year[i])”j for i=1:n, j=0:n-1]

julia> t=(year.-1950)/10 ¢=N\temp
0.5:0.5:5.0 swmall gms,..
julia> V=[float(t[i])”~j for i=1:n, j=0:n-1]
10x10 Matrix{Float64}: -
dsmond, mabyix
julia> c=V\tem
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julia> scatter(t,temp)
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julia> plot!(t,p.(t))

julia> ts=0.5:0.01:5

0.5:0.01:5.0
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julia> V=[float(t[i])"j for i=1l:n, j=0:3]
10x4 Matrix{Float64}:

1. .25 0.125

.0 )

(<]

.25 3.375
.0 8.0
.25 15.625
.0 27.0
12.25 42.875
16.0 64.0
20.25 91.125
25.0 125.0
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1.0
1.0
1.0
1.0
1.0
1.0
1.0
1.0
1.0

julia> c=V\temp

4-element Vector{Float64}:
0.03986666666666851
-0.17520745920746172
0.0901958041958051

-0.007748251748251838
julia> p3=Polynomial(c)
Polynomial(0.039866666666668

51838*x"3)

ulia> plot!(ts,p3.(ts))




